CHAPTER 11
LECTURE NO. 1

DECISION CONSTRUCTS

PREVIEW OF TODAY’S TOPICS

@ Control Structure & Types of Control Structure , IF Statement

!ﬁ.‘l‘ﬁ:“ﬁ e
LONG, QUES EIONS

1.  What is Control Structure? 3riefly Gescribe the hasic certrplistruciues for writing
(L HF-2021)(BWP-2019, 2022) (FSD 2021)

programs.

WSHORT QUESTIONS

(DGK 2022) (FSD 2022) (SWL 2019)(K.B)

T, V@ s cenircl'structure?

2 \VFiac 15 sequence structure?
3. What is compound statement?
4. What is selection statement?
5. What is if statement?
CONTROL STRUCTURE

Explain nesteil if staterient witi: s purpoie, 5% ntay flow chart and suitable program example.

(GRW 2021) (DGK 2021)

(K.B)

(LHR 2022) (RWP 2019)(K.B)

(K.B)
(K.B)

“A Control structure is a statement used to control the flow of execution in a program

or function.”

Control structure is used to combine individual instructions in to a single logical unit. This unit
has one entry point and one exit point. Program logic is implemented with the help of control
structures. Three kind of control structure are used to control the flow of execution of instruction.

Control

Sequence Structure

Structure

. Sequence Structure

Selection Structure

Repetition Structure

(i)  In sequence structure the instruction of program executed one after the other in the

order in which they are written.

(i)  Itisalso called the default flow of the program.

(iii) ~ The program starts execution from the first mstructlrm_ &G a I insi mt.tmn exnc-\ ted

one by one in a sequence.

. Selection Structure \ _J
(i)  In selection structure the istrucliohs of the r,-ir)cm

g.cup> and-selécted ¢ roap f Instruction ekeciie.
(ii)  Fniy selection i cone'afier.evaluation of a certain condition.

. Repstitior: Structir’z
[ & I e
condition remains true.

(iit)  This control structure is used to repeat same or similar work.
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ate dn ided into two or more

) | _Repauitivrrstructure is also called iteration structure or loop structure.
(lij~ "1tis used to execute a statement or set of statement repeatedly as long as the given
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CHAPTER 11 DECISION CONSTRUCTS

IF STATEMENT

e |Ifis a keyword in C language. It is used to execute or ignore a statement or a set of
statements by checking the condition. _
e A condition is an expression that either evaluates to true (usually rnn”csen*ed by Y Oi
false (represented by 0). .
The syntax of if statement is
if (condition)

statement;
_ Stdizmenty;
Statenieita;
Stmn"u:n[ }
J P Y |f ihb ‘condition is true then the statement(s) in the block of if statement are executed
' otherwise these are skipped and the control is transferred to next statement of the

program. If there are more statements in if block then these should be enclosed in braces.
However in case of a single statement the braces are optional.
The flow chart of if statement is as follows:

y
| Statement(s)

Example #1
Write a program that print the square root of a positive number input by the user.
#include<stdio.h>
#include<math.h>
void main()
{ double n;
printf("Please enter a number : *);
scanf("%If", &n);

if(n > 0)
printf("Square root of given number is = %lIf ", sqrt(n) ); }

MULTIPLE CHOICE QUESTIONS

1. Inif statement, false is represented !‘)'S/'; | SIRR B I (DGK 2022)
(A) 0 A |
C)2 ~ . R VARIRS G s

2. Which of t52 mhowl (B t1e i mﬁ'n S0YMor a decision structure? (LHR 2022)
(a) If stateent’ | | A (b) Switch
Chiflelse-if |\ — (d) Nested if

\ J'I' .__-‘;3' __-Ho..'v m:any Kinds of control structures are there to organize program instruction?

(RWP 2022) (MTN 2021)
(A) 3 (B) 2
(C) 4 (D) 5
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CHAPTER 11 DECISION CONSTRUCTS

4.

Q.No.2

Ans:

Ans:

Ans:

Ans:

Ans:

Which of the following statement is the simplest form of decision structure? (LHR 2022)

(a) Switch (b) if statement
(c) While loop (d) Nested if
The instructions are executed in the same order in which they arg @m.‘led in ne
program. . 7 UBBKER2T)
(a) Sequence structure _ ' - (0} Selecticn ‘tr'Jc ura '
(c) Loop ' (o\ If stiterent
: sﬂm DUEST IONS]
What i centrp! striciuie?? (DGK 2022) (FSD 2022) (SWL 2019) (K.B)

Cortiol stryctures-are statements used to control the flow of execution in a program or
W relica. There are three types of control structures to control flow execution.
These are:
1. Sequence
2. Selection
3. Repetition.
What is sequence structure? (K.B)
In sequence structure the instruction are executed in the same order in which they are
specified in the program. The default flow of program is sequential.
What is compound statement? (LHR 2022) (RWP 2019) (K.B)
A compound statement refers to a group of statements enclosed in opening and closing
braces such as
{ statementy;
statementy;
statements;

statement,;  }
Control flows from statement; to statement, in a logical sequence.
What is selection statement? (K.B)
A selection structure chooses which statement or a block of statements is to execute.
There are two type selection statements in C. These are

o if-else
o switch AT
What is if statement? N ] s

If is a keyword in C language. It-iz 3 used to m‘cute nr 1gnose a st mrner ra set of
statements by checking thé cmdmw" Ascenditinn lis'an exprensmn hat either evaluates to
true (usually,represented by 1} or ralse \represemno uv Q).
The syntak cf i staternert IS . \ \ -
if(condt tmn) ' IRLRIE A
{ statenterita:
stater .1ent2,
statements;

statementn; }
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CHAPTER 11 DECISION CONSTRUCTS
LECTURE NO. 2

PREVIEW OF TODAY’S TOPICS

| = Selection Structure (IF-ELSE Statement) & Nested if Statement i
SELECTION STRUCTURE (IF-ELSE STATLE j‘
LONG QUESH LON
1. Define and explain if-else steigment. (SWL 2021)
_ SGRTYOUES TLONS]

1. What is if-else siatement? (Vi/ay if ~eise siaterient i1s used?) (SWL 2019)(U.B)
2. Write syntaxiif-elde gtetemani, (GRW 2022) (LHR 2018)(U.B)

3. Converi hefoll¢wing ¢on<itional expression into if-else statement.
= [ Yo 0?=-107 z = 20; (GRW 2019) (SGD 2019, 2021) (U.B)

J | “4.| " A\Vrite a program that input a number from the user and print whether the given

number is even or odd. (A.B)

SELECTION STRUCTURE
In selection structure, the instructions of the program are divided into two or more groups
and selected group of instruction execute. This selection is done after evaluation of a
certain condition.

If-else-statement

Selection Structure

Switch statement

IF- ELSE
If is a keyword in ¢ language. If statement is used to make a decision whether a particular
task will be performed or not. If we want to make a two-way decision, if-else statement is
used. After evaluation of condition, one from two code blocks will be executed and the
other will be skipped. We cannot execute or skip both code blocks.

If-else statement
If-else statement is another type of if statement. It is two-way decision making statement.
The general form of if-else statement is: :
if(condition)

block of if(true casej;

}

{- .- 1 L F . | B . ; %,
-\ block of else(falsecase);

_ ||f'.ﬁ‘-lf‘ eqirditicn 1S true, the block of if statement is executed and if the condition is false
\ J T eEeblock of else is executed.
The flow chart of if-else statement is as follows:

else
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| ) | Yia en;e‘.u\':) Y
| _

Example#l
Writa a predran) that, irnit a number from the user and print weather the given number is
g\ien or cqlo
#Inciude<stdio.h>
void main( )
t
int n;
printf("Please enter a number : *');
scanf("%d", &n);

if((Nn% 2==0)
printf("Number is even" );
else
printf("Number is odd" );
}
Q.No.1
1. Which statement is used for marking two way decision? (GRW 2018, 2021)
@) if (b) nested-if
(c) while (d) if-else
2. Choose an alternative to the if-else statement from the following (SGD 2021)(LHR 2018)
Or
Conditional operator is an alternative of: (Answer; if-else) (GRW 2021)(SGD 2019)
(a) Logical operator (b) Relational operator
(c) Conditional operator (d) Arithmetic operator
3. Which keyword is used to specify two different choices with if statement: (LHR 2017)
(a) Then (b) if -
(c) Else (d) Case . \ S
4, When the condition of if statement. of if dlst staterriit isfalie, |t h 1| tI"" varle:
(@ao \ o ()
(c)2 . A (a3 -
5. When/irig| retatm. &! expu e »smn xf tate. nent o7 if else statement is true, it has the
value: = IR EE
@1\ AL (b) 0
. cionvead ' - (d) 6
PR tf elde atatement isa:
“. = (@) Single branching (b) Double branching
(c) Multiple branching (d) Non-branching
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CHAPTER 11 DECISION CONSTRUCTS

Q.No.2
1.
Ans:

Ans:

Ans:

Ans:

SHORT QUESTIONS
What is if-else statement? (SWL 2019)(K.B)_
If-else statement is another type of if statement. It is two-way getision ‘r..a'\m( 1 stit =mnr.
The general form of if-else statement is
if(condition)

block ef#trua/case); |

TR N

else
-vlock of else(false case);

i
If the condition is true the block of if statement is executed and if the condition is false
the block of else is executed.
Write down the syntax of if-else statement. (GRW 2022) (LHR 2018)(U.B)
Following are the syntax of if-else statement.
if(condition)

block of if(true case);
else
block of else(false case);
If the condition is true the block of if statement is executed and if the condition is false

the block of else is executed.

Convert the following conditional expression into if-else statement.
(GRW 2019)(SGD 2019, 2021)(A.B)

x<0?y=10:z2=20;

if(x<0)
y=10;
else
z=20;
Write a program that input a number from the user and print whether the given
number is even or odd. (A.B)

#include<stdio.h> — (V[
void main( ) A A N\N [ (o o=

int n; '
printf(*" Enter a nun ber ‘ .
SC 3’]f\" 0/“& : 8‘\1’1) . |1 |1

(1% 2 ==10), | \ xxﬁ'
_ plmtﬁ NL n be' s ven")
Blse

NN prlntf("Number is odd" );
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1.
2.

NESTED IF STATEMENT
LONG QUESTIONS

Explain nested if statement with its purpose, syntax, flow chart and suitable program

example. (BEaV 2921 (SWi2D]9)
Write a program that inputs three numbsiis and find-the siziallest numb2r using-=
nested if. ' _ (GRW 20725(DGK 2022)

Write a program in C languiage tiat accept three from user 2nd display the largest

number using nested.if L) . (SWL 2022) (MTN 2022)
i SHORT OWESTTONS

What i¢ naiteq if'staténiert? ) (GRW 2017)(K.B)

\Wirlt2 syintax nested-if statement. (UB)

WES THEDWE STATEMENT:

“I¥.s'atemnent inside the body of another if statement is called nested if statement.”

Nested can be done up to any level. However, the increase in the level of nesting also increase
the complexity of the nested if statement.

The syntax of nested if statement is as follows
if(condition) /louter if

if(condition) /llinner if

block of inner if

}

The else statement is optional, it may or may not be used with outer of inner if
statements. The flow chart of nested-if statement is as follows:

1st
Conditional
eXDression

h 4 v

Statement(s

202 Conditional
expression

- ' L L _.
) P l [ | ~ 1
L Statement{si, o 1) ] St:ter';_enf(s_‘ —| L
-TTJ ) | (O] W
' § . i -u | 1 |’ !
- if | ) \ |

Statement(s
-

' Exémple#l

Write a program that input three numbers form the user and displays the largest number.
#include<stdio.h>

REVISION LECTURE NOTES - 2" YEAR (PUNJAB BOARD) 206



CHAPTER 11 DECISION CONSTRUCTS

Ans:

.' ]_'. N\ '.

#include<conio.h>

void main()

{
inta, b, c;
clrscr();

printf("Please enterithiee iumkers [');)
scawf\"O/" Jod ad V') &a, &b) &L):
a(la>h)
{ '
it 2> )
printf("First number is largest ");
else
printf("Third number is largest ");
}

else
{
iftb>c)
printf("Second number is largest ");
else
printf("Third number is largest *);

¥
getch();

¥
MULTIPLE CHOICE QUESTIONS

Which statement means an if statement inside another if statement?

(a) Nested if (b) Nested loop

(c) Outer if (d) Sentinel loop

Increase in the level of nesting is also increase in

(a) Simplicity of the program (b) Complexity of the program
(c) Understandability of the program (d) Reusability

SHORT QUESTIONS

What is nested-if statement? ~1¢ ILRR 201730K B)' W\

If statement inside the body of another if statement is callsu tste'i if| Sfu[P’T]e”]T :\luo'illy'
can be done up to any level. Howeyer the i incriaqse ||1 the Ievel cf nmstmg alsgiicrease the
complexity of the nested if| statemei: ! \

The syntc xof nested stateirent is o8 fallows
fichnil tlm-) AR \ A= /louter if

iifcen(ji'tion) /linner if
{

block of inner if

}
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}
The else statement is optional, it may or may not be used with outer of inner if statements.
2. Write down the syntax of nested if statement. (L)
Ans: The syntax of nested if statement is as follows | '
if(condition) reutert
{ .
__ HTondition) | ) limner if
-r i
_ nlcck of inneii
]
' Az
}
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CHAPTER 11 DECISION CONSTRUCTS
LECTURE NO. 3

PREVIEW OF TODAY’S TOPICS
If-else-if statement & Use of logical operators
IF-ELSE-IF STATEMENT & USE OF LOGICAl-{

1. Define “if-else-if “statemzn!. Exoizin #S working wiil, syntay, Fiovchart and
example. | _ 4HR 2021) (MTN 2021)
2. Write @ jivogrars tiiat-inputs thize nuimbers-and displays the maximum number by
using ifeis? i7 statement. | (LHR 2022)
- 1 \Mrat ig [f-nise it statement? (K.B)
| |52 it are logical operators? (SWL 2021) (MTN 2021) (DGK 2021) (K.B)
3. Write down the syntax of if-else-if statement. (U.B)

IF-ELSE IF STATEMENT:
If there are more than three alternatives, then nested if statements can becomes quite
complex. In such statements if statement with multiple alternatives if-else if can be a
good choice.
The syntax of if-else if statement is as follows.
if(condition,)
statement;
else if (conditiony)
statementy;

else if (conditionp)
statement;
else
statementy;
The condition in if statement with multiple alternatives are executed in sequence until a

true condition is reached, then the statements following is executei—and re3t/ 6% "

alternatives conditions are skipped. If all conditions are false #iian stitements fcliowiris
the last else is executed. The flow chart of if-else if stetémest i¢ &s Tallpwsts, L ™

-y

— ! LT, L 1
| T

) 1 “ -,

%, _i .

b |
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1%t conditional
expression

Statement(s) _|

~ (A EELEER

Sadkonditioph, 7., |
(o ponCT - Stetemdntis)  —
dxprelsipr, | |

Statement(s) [

Statement(s)

v

O
Example #1
Write a program that determines the given number is positive, negative or zero by using
if-else if statement.
#include<stdio.h>
void main( )

{

int n;
printf("Please enter a number : *);
scanf("%d ", &n);

iftn>0)

printf(*The number is positive ");
elseif(n<0)

printf(*The number is negative ");
else

printf(*The number is zero ");

USE OF LOGICAL OPERATOR | \ M D
There e thre€ 105 jical coemtor*A\[\!Jg ( &u,, OR (1), and NOT(!). These operators use to
construgt Lcmpuund ca mht.o“" to may be used with if statements.

Examnle#l

_ AN LG ftp Apssyram that input three numbers form the user and displays the largest number.
- Ju WL includesstdio.h>

A void main()

{

int a,b,c;
REVISION LECTURE NOTES - 2" YEAR (PUNJAB BOARD) 210
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Ans:

SN Cise

printf("Please enter three numbers ");
scanf("%d %d %d ", &a, &b, &c);

if (a>b && a>c)

printf("First number is the largest");
else if (b>a && b>c)

printf(""Second numier is i3z largest");
else 1B
inif(UTHirg rumiber s the *arqest“i'-

}
.
Whrich g qr" operator is used in C language? (RWP 2022)
(a)7 (b) +
(c) && (d) *
What does a compound condition use to join two conditions? (SGD 2019)
OR
Which of the following operators is used to make a compound condition?
(a) Relational Operators (b) Relational Result
(c) Logical Result (d) Logical operators
Which of the following is not logical operator: (GRW 2018)
(@) && (b) O
(©)! (d)>=

An expression containing logical operators returns which of the following depending
upond weather the expression true or false?

@~o (b) 1
(c)2 d) Both (a) & (b)
What is if-else if statement? (K.B)

If there are more than three alternatives then nested if statements can become quite
complex. In such statements if statement with multiple alternatives if-else if can be a
good choice.
The syntax of if-else if statement is as follows.
if(condition;)

statementy;

else if (conditiony)
statementy;

Glse f (Condutionk).)
_statemienty;

statementy;
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2. What are logical operators? (SWL 2021) (MTN 2021) (DGK 2021) (K.B)
Ans:  The three logical operators (AND, OR, and NOT Represented by &&,ll, and !
respectively. These operators play an important role in construction certain compour*"
conditions to be used with if statement. ) 1
3. Write down the syntax of if-else-if statenzent. | | JB)
Ans: The syntax of if-else if statement is ay follnv VS
if(condition,)
statemenits;
else if| (Conditiony)
stacementy; |

else if (conditionp)
statementy;
else
statementy;

.' ]_'. N\ '.
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LECTURE NO. 4

PREVIEW OF TODAY’S TOPICS

| =

Switch Statement, Conditional Operator

SWITCH STATEMENT, CONDITIONAL ORER

Write a program that injius a wesiday nurier anc, prints the ngme of day on

screen using switch strucuureg. TN 2021) (GRW 2018)
Write @ ivogrars tiiat-inplts a charasiar and dlsplay whether |t is vowel or not

using swi ‘(h Hatsrent. _ (FSD 2022)(RWP 2022) (SGD 2018)
\Wriat ic meaint by conditional operator? (RWP 2022) (LHR 2021) (U.B)
\Y/rite a program that input two numbers from the user and display the larger

Number by using conditional operator. (A.B)
Write the syntax of “Switch” statement. (BWP 2022)(U.B)
Why break statement is used in a Switch () structure. (LHR 2021) (BWP 2019)(U.B)

What is the purpose of default statement n switch structure?(GRW 2019) (SGD 2018)(U.B)

SWITCH STATEMENT:

Switch statement is a condition statement that compares the value of an expression
against a list of cases. The case label and the value of expression must be integer or a
character. It must not be a float or double value.

The syntax of switch statement is:

switch(expression)

case vali:
statementy;
break;

case valy:
statementy;
break;

case valn:
statementy; =1 -
break; - SN .

default: -~ [ AR
statement;i ! =

}

FLOW CHART) DF SWiTCH STATEMENT.

.' ]_'. N\ '.
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CHAPTER 11

switch
(conditional expression)

e
e cash |
— )

~ corfdition 2%, __

case u
condition 1 [

statement block executed
if no condition is
true (satisfied).

)

| e if cpndie=Z is

statement block executed I
if condition 1 is
true(satisza)! l

stetemdntihlock exsnr=lid

“roe(satisfied).

statement block executed
if condition 'n’ is

true(satisfied).

DECISION CONSTRUCTS

Y

CONDITIONAL OPERATORS:
Conditional operator is a ternary operator. It requires three operands. It is also used as an
alternative of if-else statement.

Its general form is

“Conditional expression? True-case statement: false-case statement;
The condition is a relational or logical statement. If the condition is true then the true-
case statement will be executed otherwise the false-case statement is executed.

Example#l

Write a program that input two numbers from the user and display the larger number by
using conditional operator.

#include<stdio.h>
void main()

{

int nl, n2;
printf("Please enter first number :

scanf("%d", &nl); -
printf("Please enter ”?cond m,;'mt_)ei'. A
scanf("%d ", &n2);| '

}
CuTUN

")

my

nc/nz?"‘ﬂnm(""/od' |a;gn1'\ nl -Driri "%d is larger ",n2);

ULTIPLE CHOICE QUESTIONS

1 WhICh of the given is valid case statement in a switch?

(a) Case |

(c) Case‘ab’
REVISION LECTURE NOTES -

(b) Case xcy:
(d) Case2+5:

2" YEAR (PUNJAB BOARD)
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2.

Ans:

Ans:

Ans:

The case block ends with: (MTN 2022) (LHR 2021) (BWP 2019) (SWL 2019)(SGD 2018)
(a) End Select (b) End Case

(c) Case Else (d) Break _
Another term for conditional operator is:(FSD 2022) (BWP 2021, 2022) G W ‘319\(Gl 0y 201",
(a) Binary : V(b)Y Termary

(c) Byte ' . _ () Itereticr _ _
Conditionatoperator.is-an alternative of. (CR'V-20225GSD 2021, 2022)(SGD 2019)(LHR 2018)
(a) if "/ S () if-else

(c) switch' | 1\ Vs T (d) for

Conditicnal\Qperator takes: (GRW 2017)
(2)"Gne Operand (b) Two Operand

(c) Three Operand (d) Four Operand

The value of expression of switch statement is compare to each which label?

(a) Case (b) Break

(c) Default (d) All of above

SHORT QUESTIONS
What is meant by conditional operator? (RWP 2022) (LHR 2021) (U.B)
Conditional operator is a ternary operator. It requires three operands. It is also used as an
alternative of if-else statement. Its general form is
Conditional expression? True-case statement: false-case statement;
The condition is a relational or logical statement. If the condition is true then the true-
case statement will be executed otherwise the false-case statement is executed.
Write a program that input two numbers from the user and display the larger
number by using conditional operator. (A.B)
#include<stdio.h>
void main()

{

int n1, n2;

printf(“please enter first number ");

scanf("%d ", &nl);

printf(’ please enter second number ") — (V[
scanf("%d ", &n2); SN I

TR SN

ni>n2 ? prlntf("%d is Iargcr nl) nzing f ‘“c |s Im et 14,.1
} , ]
Write the sy ntax of “Switch™ statemeint.: | (BWP 2022)(U.B)
Followiad are, {he, syntay, of ! wt‘*fﬁﬂcmc.u )
The syr\taofiswirch Statehisiit is:
swit(h(exprassion; =

I. i
- L

case vali:
statement;;
break;

case vals:
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statementy;
break;

case valn:
statement,
break;
detault:
tatement; |
3 .

& \Wriy break statement is used in a Switch () structure. (LHR 2021) (BWP 2019)(U.B)

J RS i switch structure the value of expression is compared to each case label. The statements
following the first label with a matching evaluated value are executed until a break

statement is encountered. The break causes the rest of the switch statement to be skipped.

5. What is the purpose of default statement n switch structure?(GRW 2019) (SGD 2018)(U.B)

Ans: In switch structure the default label may be used to provide code to be executed if none
of the case label is matched. However, the position of default is not fixed. It may be
placed before the first case statement of after the last case.

.' ]_'. N\ '.
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STUDENTS LEARNING OBJECTIVES (SLOs)
MULTIPLE CHOICE QUESTIONS '

Knowledge Based Questions
() Which Structure are statements trat contrel tg tlo'n of execution iria pregram?

(a) Sequence . (B)\Laop

(c) Selection (d} 'Caritred Structu rés’

(i)  Which oi the following corrtrol stricture usea for comparison?

(a) Sequence _ (b) Selection

(c) Repetitien \ \ (d) None

(B0 s Waich of theforiowing is a conditional statement?

(&)gota’ (b) Switch

(L) 3tring (d) None of these

(iv)  The value of expression in switch statement must not be a or value.
(@) int — float (b) integer — character

(c) float — Double (d) None of these

(v) How many basic selection statements in C language?

@2 (b)3

()4 (d)6

Understanding Based Questions

0] In which statement, instructions are enclosed in opening and closing braces?
(a) Comments (b) For Loop

(c) String (d) Compound

(i)  Which of the following operator is used to construct compound condition?
(a) Arithmetic operator (b) Relational operator

(c) Logical operator (d) Binary operator

(ili)  When the condition of if statement is false, it has the value.

@0 (1

(c) 2 (d) None of these
(iv)  The switch statement is especially useful when the selection is based on the:

(a) Operator (b) Break

(c) Value (d) All of above

(v) If the expression of conditional operator is true then the statement after the which
symbol is executed?

@: (b)? _

©; @@ ,

Application Based Questions — PRl Su A"
(M Which is an expression tkat eltht-.mva dates, 10 irie nr falee?, o

(a) Bug nys (b* Sseape sequerice |

(c) Condition,~ ' (AL ASTI code

(i)  Whichz 1He hll )\rJII’ g are vorll“l\?:: in switch?

(a) case 1: A | (b) case x < 4:
(c) grse[ak) ' = (d) case 1.5
) = didiond symbol indicates:
“(il) Frogress (b) Input
(c) Output (d) Condition

(iv)  The last statement is use to move case block in switch () structure must be:
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CHAPTER 11

(v)

(vi)

DECISION CONSTRUCTS
(a) Default (b) if-else
(c) Break (d) else
What will be the output of: (6>7)? printf(“ABC”): printf(“XYZ”);
(a) ABC (b) XYZ ¢
(c) ABSXYZ rd) XYZABC -
A type of operator that works witii,one ooe'“"d is calleq:
(a) Binary operator ' : . (B Unary cpe retor
(c) Ternary.qperator (d) Reidtiohet-operator

SHORT\QVESTIONS

QL.

ANG:

Q2.

Ans:

Q3.

Ans:

Q4.

Ans:

\ivhat is co"\fnl ot u\,[ure?
13ortenstrictures are statements used to control the flow of execution in a program or
function. There are three types of control structures to control flow execution. These are
i.  Sequence
ii.  Selection
iii.  Repetition.
What is compound statement?
A compound statement refers to a group of statements enclosed in opening and closing
braces such as
{
statementy;
statementy;
statements;

Statement;

Where the control flows from statement; to statement in a logical sequence.
What is selection statement?
A selection structure chooses which statement or a block of statements is to execute.
There are two type selection statements in C. These are

i. if-else

ii. switch
What is if statement? \
If is a keyword in C language. It is used to execute or jgncse™a ,tctemnt or ! sm Gr
statements by checking the condition, A co hdtion isdh BXpressicn t hal mtr ir. el2.uates to
true (usually represented k1) or 19'%.3 (represqiiten] by 1)3
The syntax of if statement i~ /| |
If (cor’ur nn) v - LA
siatemeritat
stRiereity;
statements;
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Statement;

Q5. What is if-else statement?
If-else statement is another type of if statement. It is two way demsm*‘ akinig steteril |t
The general form of if-else statement is .
if (condition)

{
1)

2188

1

Block of if (true cisz);

Biock of else (false case);

If the cgndition is true the block of if statement is executed and if the condition is false
the block of else is executed.

Understanding Based Questions

Q1. Explain the comparison of nested if and sequence of ifs statements.

Ans: Comparison of nested-if and sequence of ifs statements:

The sequence of if statements is simpler then nested if statement. That is why the
beginner usually prefer to use a sequence of if statements. However sometimes it is
useful to use a nested if instead of sequence of ifs. In nested if statement when the control
flow reaches a logical decision the rest of the conditions are skipped whereas in a
sequences of if statements all conditions are tested in any case.

Q2. Why break statement is used in a Switch () structure.

Ans: In switch structure the value of expression is compared to each case label. The statements
following the first label with a matching evaluated value are executed until a break
statement is encountered. The break causes the rest of the switch statement to be skipped.

Q3.  Why “default” case is used in switch statement?

Ans: A default label may be used to provide code to be executed if none of the case label is matched.

Q4.  Write down the syntax of conditional operator?

Ans: Conditional expression? True-case statement: false-case statement;

Q5. Assuming x is 10.0 and y is 15.0 what are the values of the following condltlons

a) xl=y .

b) X< X _ 5 N [ -

c) X>= Y - X ~ WA A\ N B L
d) X==y+X-Vy L AR | ’

[Hint The value of a true %0 1c'|[rur1 5 1 m”j g Fai:% ccr.d- igiTis lﬂ
Ans:  Result ¢ rchVG conditionis is v Y |
b) 0 ARIE Wi
NAERS
% ) i\l Ne]

A nlication Based Questions

Q.1  Write an expression to test each of the following relationships
a) age is from 18 to 25
b) temperature is less than 40.0 and greater than 25.0
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C) year is divisible be 4 [Hint use %]
d) speed is not greater than 80
e) y is greater than x and less than z
f) w is either equal to 6 or not greater than 3.
Note: The bold face words represent varlables names
Ans: Expression of above statements.
a) age>=18 && age<=25
b) temperature< 40.0 && teiryer! mru > 2»
C) y adrvo 4 ==0
d) ispeac> 83)
e) ‘_'>x&z&:y.<z
f vy =216 1 (v '>3)
iz v MW=t avii-be output of the following.
L) ~int x=5, y=10;
if(x>y)
y=2;
y=y+l;
printf(“value of y=%d”, y);
Ans: output:
value of y=11
Q.3  Trace output of the following program.
int a=4, b=2, c=5;
if (a>Db)
a=5;
if(c==a)
a=o6;
else
a=r1;
printf(“%.d”, a);
Ans: 6
Q.4  Find the errors in the given code.

void main()
{
int a=2;
if (a=1)
printf(“OK”);
else Y, ]
prinf(“cancel”); — T\ L A WS O, O~
getch(); \ ' ' -
} .
Ans: Error: Ut‘( Ialafmnb,ntax”o?
ais asngr 2 ¢ val Je that,is' rpvar Ut
Q.5 Tracetheriren |\t -
MINTNIGE L RES

WD T Inty=4

If (x<y)
X++:
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Ans: Int x=3;
Int y=4;

If (x<y)
X++:

\ J..' { '.
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